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mps m/s
Sl
mandatory
5.2
°C
degree Celsius degree d
Celsius C
space -
3 3.1
squared cubed
square  cubic
*
5.3
5.3.1
the value of a quantity number unit
numerical
value
value
m? m? m/s*

JIS Z 8203

joule J
hertz Hz
metre m
second S
ampere A
watt W
2.6 m/s 2.6

2.6 metres per second

milligram
kilopascal
milli-gram
kilo-pascal

pascal second
pascal-second

metre per second squared
square centimetre

cubic millimetre

ampere per square metre

kilogram per cubic metre

v = dx/dt
v=25m/s=
90 km/h
25

90



C Cnm Cm,p
Crm,v
ISO Standard 31
Quantities and Units IUPAP SUNAMCO Red Book Symbols, Units and
Nomenclature in Physics IUPAC Green Book Quantities, Units and Symbols
in Physical Chemistry

quantity calculus algebra of quantities
T=293K T/K =293
T
p T p
TIK 10° K/T p/MPa In(p/MPa)
216.55 4.6179 0.5180 —0.6578
273.15 3.6610 3.4853 1.2486
304.19 3.2874 7.3815 1.9990
2.4
16 |
g
2 o8 f
NS
£
00 |
-0.8
3.2 3.6 4.0 4.4 4.8

1000 K/T
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10° (T/K)*
5.3.2
5.3.3
minute
t
|
22.20°
5.3.4
marker 22
+1 -1

9 CGPM 1948

space 3

10® KIT

second

degree Celsius

degree 10

CGPM 2003

7 22
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kK/T
space
degree
°C
22° 12’
decimal
0
2003 10
thin
3

Umax =
1000 V
U = 1000 Vax

w(Cu) =
13x10°
1.3 x 10° wiw

m=123¢g

9 =30°22'8"

t=30.2°C
t=30.2°C
t=30.2°C

10 kQ resistor
35-millimetre film

1=10.234 m
I1=10m 23.4cm

—-0.234,
—-.234

43 279.168 29,
43,279.168,29

3279.1683 3279.168 3



table

5.35
Guide to the Expression of Uncertainty in Measurement, 1SO, 1995
X
k=1 u(x)
m, = 1.674 927 28 (29) x 107 kg
mn mn
2
u(m,) = 0.000 000 29 x 10°% kg k 1
k
5.3.6 F=ma
. a -1 (53 m/s) x 10.2 s
ab ab ab axb ab ; ab (53m/S)(102 )
X : 25 % 60.5
% 25 -60.5
(20 m)/(5s) =4 m/s
(a/b)/c
alblc
5.3.7 1
2.2.3 1
Sl 1 1
1 1
one
1 rad

radian
1 sr steradian



neper B
decibel
| 1

0.01
%

%

percentage by volume

substance
10°  10°
parts per billion 1
ppb  ppt
ppb
billion  10°

billion 10 trillion  10'®

% ppm
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Np
bel dB

p.127 4.1 8

1
10
%
%

percent %

percentage by mass
percentage by amount of

ppm
10
perts per trillion
trillion  10%
ppt 1000

xg = 0.0025=0.25%
XB B

95 %

9p=36%
9
0 =3.6% (VIV)

Xg=2.5x 107
= 2.5 mmol/mol

u(U) =0.3 pviv
u(U)
u





